e
eoeo
= HUrBIO0IC
e Mresearch & development

KATAJIO TOBAPOB

Kpenex n akceccyapsl
019 aJIIOMUHNEBOIO
CTAHOYHOrO NPOPUIS



https://purelogic.ru/
https://purelogic.ru/

90° corner connector - euro 20 series

AN

20LA-6 13 E20.2.01.01

113 66

90° corner connector - euro 30 series

Description Mass (g) Part no
30LA-B 17 E30.2.01.01
30LAT-8 46 E30.2.01.02
60LA-8 89 E30.2.01.03
H -t DE 2
" F 4 ¥ : fﬁ?“\'ﬁ::":h_
| ='.r. / 3
[ Fl| LW Y
ol | l [ ] A ﬁ __H:f
37_:’:_ ~] =" rf/ﬁ /
L ~

Mass (g)

4QLAT“ B 116
B0OLA-B 244
Mo\ *® E 5
_.".E%- ‘%{ = = ]i -]
S e IEl
NS
ADLAT-8 k3

E40.2.01.01
E40.2.01.02
E40.2.01.03

-

L=

]

3

s

="

7

www.purelogic.ru


https://purelogic.ru/

90° corner connector - euro 40 series (slot 10)

40LAT-10

Description Mass (g) Part no

A0LA-10 44  E40.201.04
40LAT-10 122  E40.201.05
80LA-10 257 E40.2.01.06

90° corner connector - euro 45 series

[ . 53
| 45LA . 65
" 45LAT | 148
4 45LAT 194
2 9OLA | 275
0LA 336

Description Mass(g) Partno

E45.2.01.01
| E45.20101A
. E45.2.01.02
| E45.2.01.02A
£45.2.01.03
E45.2.01.03A

www.purelogic.ru


https://purelogic.ru/

extruded holder corner connector - euro 20, 30 series

E2020-40x5 £E2040-40x5 E2080-40x & E2040-50 x 8 E2080-50 x 8

E3030-40x 5 E3060-40x 5 E3098-40x 5 E30120-40x5 E3030-50x 8

E30120-50x 8 E3030-60x6 E3060-60x6 E3030-60x 6 E30120-60 x 6

Description Mass (g) Part no Description Mass (g) Partno
€2020-40x 5 E20.2.02.01 E30120-40x 5 E30.2.02.04
E2040-40x5 34 £20.2.02.02 E3030-50x8 41 E30.2.02.05
E2080-40x5 72 E20.2.02.03 E3060-50x8 93 E30.2.02.06
E2020-50x8 27 £20.2.02.04 E3090-50x8 144 E30.2.02.07
E2040-50x 8 61 E20.2.02.05 E30120-50x 8 196 E30.2.02.08
E2080-50x 8 120 E20.2.02.06 E3030-60x6 43 £30.2.02.09
E3030-40x5 23 £30.2.02.01 E3060-60 x 6 97 £30.2.02.10
E3060-40x%5 52 E30.2.02.02 E3090-60 x 6 151 E30202 11
E3090-40x5 81 £30.2.02.03 E30120-60x6 206 E30.2.02.12


https://purelogic.ru/

extruded holder corner connector - euro 40, 45, 50 series

E4040-40x 5 E4080-40x5 E40120-40x 5

E40120-50x 8 E4040-80x8 E4080-80x8 E40120-80x 8 E40160-80x 8

E4545-80x8 E4590-80x 8 ESOS0-50x 8 ES50100-50x 8

Description Mass (g) Part no

1 : X 40.2.02.01
EA0BO-40x5 73 . E40.2.02.02

E40120-40 x 5 111 E40.2.02.03

E4D160-40x5 149  E40.20204

E4040-50 x 8 73 E40.2.02.05

E4080-50 x 8 154  E40.202.06

E40120-50 x & 235 | E40.2.02.07

E40160-50x8 316  E4020208

SRf=narat ERRIRe==TFR E4040-80 x 8 121 £40.2.02.09
E4080-80 x 8 256  E40202.10

E40120-80 x 8 392 | E40202.11

E40160—80 x 8 527  E40202.12

E4545-50 x 8 83 | E4520201

E4590-50x 8 175  E4520202

E4545-80 x 8 1329 E45.2 02,03

E4590-80 x 8 292  E45202.04

E5050-50 x 8 94  E50.2.02.01

ES0100-50x8 196  E50.20202

ES050-80 x 8 156 E50.2.02.03

E50100-80 x 8 326 E50.2.02.04



https://purelogic.ru/

45° corner connector

SV, <A\ [ o < T~ P - .

-1 R - NEP g 5
< :}‘ -._\_I_’v"‘u___.r-’ - \I:.___:_.-"" H\_;E;.-g;’_._.--" .
E2020-45° E2040-45° E2060-45° £2080-45°

E3060-45° _ E3008-45° E38120-45° E4840-45° E4080-45

Description  Mass (g) Part no

E2020-45° 46 E20.2.02.07
E2040-45° 104  E202.0208
E2060-45° = 162 E202.02.09
E2080-45° 220  E20.2.02.10
E3030-45° 75 E30.2.02.13
E3060-45° 162 E30.2.02.14
E3090-45° 249  E302.02.15
E30120-45° 336  E302.02.16
E4040-45° 103 E40.2.02.13
E4080-45° 219 £40.2.02.14
E40120-45° 334 E40.2.02.15
E40160-45° 449  E40.20216

E4545-45° = 115  E46.2.02.05

E4590-45° 245  E45.2.82.06

; e ES050-45° | 133 ES0.2.02.05

TR0 45 EEB100 a9 ES0100-45° 278  E50.2.02.06


https://purelogic.ru/

135° corner connector

<o)
'\:“\.f' g
¢
x.::-l:;@ . z-map
N J; >
&
E3030-135"
~ G: ." ,‘L .'\ y A'_l\
Pl W o O
ko L\
\\,\ - ) U: ; ) \‘ —
x\¢_ g o ‘-\? a—:" B 9
a2t Noh WoB
-"‘-\.I_;C:-'_-'ﬁ' & B e _"wﬁ;{;___.-- .“"::f.-.':": >
E3060-135 E3090-135° E30120-135° E4040-135° E40B0-135°
N
Pl 7 25BN Description ~ Mass (g) Part no
e - U/ e
A \paur (2~ e E2020-135° 58 | E20202.11
% FEs N /ééff?' E2040-135° 131 E20.2.02.12
e i =~ o |
“;: > =g :’f}/ E2060-135 204 E20.2.02.13
E40120-135° E40160-135° E2080-135° 277 E20.2.02.14
E3030-135"° 95 E30.2.02.17
E3060-135" 204 £30.2.02.18
E3090-135° | 314 | E30.2.02.19
E30120-135° 424  E30.2.02.20
E4040-135° 131 E40.2.02.17
E4080-135° 276 | E40.2.02.18

E40120-135° 422 E40.2.02.19
E40160-135° 567 E40.2.02.20

E4545-135° 146 E45.2.02.07

E4590-135° 300  E4520208

E5050-135° = 168 | E50.2.02.07

E5050—1357 E50100-135° E50100-136° 351  E50.2.02.08


https://purelogic.ru/

corner connectors

Description Mass (g) Part no
20DKE 7 E20.2.03.01
30DKE 20 E£38.2.03.01
40DKE 38  E4020301
45DKE 42 E45.2.03.81

euro screws

;,Hg—u A s
| &

BME x 16 = BMB8 x 20
Description Mass (g) Part no
BM6 x 16 6 E20.2.04.01
BM8 x 20 1 £38.2.04.01
BME x 20 11 E40.2.04.01
BM12x30 31 E452.84.01



https://purelogic.ru/

TK30 BME x 16) TK40 BM8 x 20)

Description Mass () Part no

TK30 . 6 E30.2.05.01
TK40 1 E40.2.05.01

T-type / L-type cruciform jumpers

Description Mass (g) Partno

30LB
30TB
30305L
40LB
40TB
4040SL
45L 8
45TB
454581

84

a4

120
i)
171
266
242
211
330

E30.2.06.01
E30.2.06.62
E30.2.06.03
' E40.2.06.01
E40.2.06.02
'E40.2.06.03
E45.2.86.01
E45.2.06.02
E45.2.06.03

www.purelogic.ru


https://purelogic.ru/

slotted pin 30 series

Description
30MSW
30MSZ
30MSN

N (It ]

Mass (g) Part no
35 E30.2.07.01
33 E30.2.07 02
33 E30.2.07.03

www.purelogic.ru


https://purelogic.ru/

slotted pin 30 series

Description Mass (g) Part no

30MSX-A 35 £30.2.07.04
30MSX-B 35 E30.2.07.05
30MSD-A 58 £30.2.07.086
30MSD-B o8 £30.2.07.07

www.purelogic.ru



https://purelogic.ru/

slotted pin 40 series

Description  Mass (g) Part no

40MSW 67 £40.2.07.01
40MS2 66 E40.2.07.02
40MSN 66 E40.2.07.03

www.purelogic.ru


https://purelogic.ru/

slotted pin 40 series

Description  Mass (g) Part no
: T 40.2.07.04

40MSX-B 64 E40.2.07.05

A0MSD-A 91 E40.2.07.06
40MSD-B 91 E40.2.07.07

60° <a<180°

www.purelogic.ru



https://purelogic.ru/

slotted pin 45 series

Description Mass (g) Part no

45MSW 70 E45.2.07.01
45MSZ 67 E45.2.07.02
45MSN 67 E45.2.07.03

www.purelogic.ru


https://purelogic.ru/

slotted pin 45 series

Description Mass () Part no
45MSX-A 67  E45.2.07.04

45MSX-B &7 E45.2.07.05
45MSD-A 109 E45.2.07.06
45MSD-8 109 E45.2.07.07

B <a< 180°

www.purelogic.ru



https://purelogic.ru/

slotted pin 50 series

50MSW 72 E50.2.07.01
50MSZ 69 £50.2.07.02
50MSN 69 E50.2.07.03

50MSW

50MS2

www.purelogic.ru



https://purelogic.ru/

slotted pin 50 series

Description Mass () Part no
50MSX-A 69 ES0.2.07.04

5OMSX-B 69  E50.207.05
50MSD-A 115 E50.2.07.06
SOMSD-B 15 E50.2.07.07

www.purelogic.ru


https://purelogic.ru/

euro three-dimensional angle connector

Description Mass (g) Part no
SWa3n 47 E30.2.08.01
Sw4o 122 E40.2.08.01

3-985

euro connector

Description Mass (g) Part no

20YL 29 E20.2.09.01
30YL 98 E30.2.09.01
40YL 180 E40.2.09.01
45YL 196 E45.2.09.01

20YL

40YL ' 45vL


https://purelogic.ru/

external expansion slot 90°

SGBLB

458L8

40BLB

30BLB

100BLE

90BLB

80BLB

60BLB

Part no

Mass (g)
148

Description

E30.2.10.01

30BLE

206 E40.2.10.0Q

40BLB

£45.2.10.01

230

45BLB

ES50.2.10.01

266

SOBLB

£30.2.10.02

320

60BLB

E40.2.10.02

43%

80BLB

E45.2.10.02

496

S0BLE

E50.2.10.02

556

100BLB

www.purelogic.ru

/4


https://purelogic.ru/

euro corner connector

45JL

Description Mass (g) Part no
A0JL-A 365 E40.2.11.01
40JL-B 410 E40.2.11.02

45JL 416 E45.2.11.01


https://purelogic.ru/

euro internal screw T-type

Description

20TM4
20TMS
30TM4
30TMS
30TMéE
40TM4
40TM5
40TME
45TM4
45TM5
45TME
45TMB

Mass (g)

--

~N DM oo DD L L b -

A

5.5
515
6.5
6.5
6.5
7.8
7.8
7.8
B.5
85
B.5
BiE

15
1.5
15
1.5
1.5
2.8
28
28
32
3.2
352
3.2

M4
MS
M4
MS
M6
M4
M5
M&
M4
M5
Me
MB

E20.3.01.01
E20.3.01.02
E30.3.01.01
E30.3.01.02
E30.3.01.03
E40.3.01.01
E40.3.01.02
E40.3.01.03
E45.3.01.01
E45.3.01.02
E45.3.01.03
£45.3.01.04

euro sliding internal screw

<>

>

Description Mass (g) A

20HM4
20HMS
20HMe
30HM4
30HMS
30HMB
30HME
40HM4
40HM5
40HME
40HMB
45HM4
45HMS
A5HMB
45HM8

S /e

10
10
10
18
16
16
18

B
10
10
10
16
16
16
16

195
19.5
19.5
19.5
19.7
19.7
19.7
19.7

w0 v
@O 0 olel

95
9:5
95
25
9.5
2i5

W W e - ~ {5
fo NRal o lra] oo oy o e P oy )

m

MS
M6
M4
MS
Me
M
M4
M5
Mé
M8
M4
M5
M6
M8

0F 8 00 OF 00 OF OO O O I

Part no
E20.3.02.01
E20.3.02.02
E20.3.02.03
E30.3.02.01
E30.3.02.02
E30.3.02.03
E30.3.02.04
E40.3.02.01
£40.3.02.02
E40.3.02.03
E40.3.02.04
E45.3.02.01
E45.3.02.02
E45.3.02.03
E45.3.02.04

www.purelogic.ru


https://purelogic.ru/

euro elastic internal screw

Description Mass(g) A B D E F Part no

20TH4
20THS
30TH4
30THS
30THE
30TH8
40TH4
40THS
40THG
40TH8
45TH4
45TH5
45THG
A5THS

2.1
19
7
6.6
6.2
5.8
11
11,3
1.7
22
15
146
13.7
12.4

13

IREN

20

20

20

20

21.5

|5

215

215

23

2]

23

|23

M W m e e ®»® o n e

© o
o @

4
4

65
65

6.5

.5,5'

6.5
6,5
6.5

ool
6.5
619

6.5
65

M4

M5

M4

M5

Mé

MB

Ma

M5

M6

M8

M4

M5

M6
M8

i-

E20.3.03.01

~ E20.3.03.02

E30.3.03.01

' E30.3.03.02

E30.3.03.03
E30.3.03.04
E40.3.03.01
E40.3.03.02
E40.3.03.03

| £40.2.03.04

E45.3.03.01

| E45303.02

E45.3.03.03
E45.3.03.04

flange internal screw

Description Mass (g) A

FL-M86
FL-M8

3
7

13
16

B C
10 M8
117 M8

S /e

$:9
7

E
2
2.5

Part no
E30.3.04.01
E40.3.04.01

www.purelogic.ru


https://purelogic.ru/

euro external screw T-type

Description
30TS6 x 12

0TS6 x 16

30TS6 x 20
40TS8 x 16
40TS8 x 20
40TS8 x 25
40TS8x 30

40TS8x 35

45TS8 x 20

45TS8x% 25

45TS8 x 30
45TS8x 35

Mass(g) A
6 16
6.8 6
76 16
10.3 19
113 19
12.6 19
139 19
15.2 19
12.6 18.5
14 19.5
145 195
16.5 195

B
6.5

6.5
6.5
15!
95
9.5
95

95

98
9.8
9.8
98

jr

ml.;il

!

C D
12 a
16 a
20 a
16 8
20 8
25 a
30 a
35 a8
20 10
25 10
30 10
35 10

g 2 =2 =222 2 2
® DD DPDD DD DB D

Part no
E30.3.05.01
E30.3.05.02
E30.3.05.03
E40.3.05.01
E40.3.05.02
E40.3.05.03
E40.3.05.04
E40.3.05.05
E45.3.05.01
E45.3.05.02
E45.3.05.03
E45.3.05.04

round head screw

Description

BMS x 10
BMS x 12
BME x 12
BME x 16
BME x 20
BM8 x 12
BM8 x 16
BMS x 20
BMS8 x 25

Mass(g) A
2 85
) 8.5
4 10
5 10
6 10
7 13.8
3 138
10 13.8
12 13.8

25

2-5 N

A A A R W W W

10
12
12
16
20
12
16
20
25

MS
M5
M6
Mé
M6
M8
M8
M8
M8

E20.3.06.01
E20.3.06.02
E30.3.06.01
£38.3.06.02
E30.3.06.03
E40.3.06.01
E40.3.06.02
£40.3.06.03
E40.3.06.04

www.purelogic.ru


https://purelogic.ru/

hexagonal socket head screw

Description Mass(g) A B C D Part no

YM4 x 10 2 7 3.5 10 M4 E20.3.07.01
YM4 x 12 2 7 3.5 12 M4 E20.3.07.02
YM4 x 16 2 7 3.5 16 M4 E20.3.07.03
YMS x 10 & 8 4 10 MS E20.3.07.04
YMS x 12 3 8 4 12 M5 £20.3.07.05
YM5 x 16 4 8 4 18 MS E20.3.07.06
YM6 x 12 e 8.5 6 12 M& E30.3.07.(1
YM6 x 16 7 =5 s 16 Me E30.3.07.02
YMG6 x 20 8 9.5 . 20 M6 E38.3.07.03
YM8 x 12 11.5 IEESTY WES U W2 M8 E40.3.07.01
YMB x 16 11.6 1.5 7.5 16 M8 E40.:3.0?.02
YMB x 18 11165 1ES §_7eS 18 M8 E40.3.07.03
YM8 x 20 11.5 11.5 7.5 20 M8 £40.3.07.04
YM8 x 22 1 53) e 279 22 Mé E40.3.07.05
hexagonal screw with countersunk head
Description Mass(g) A B Part no
CM6 x 10 4 115 5 10 M8 £30.3.08.01
CME x 12 5 11.5 5 12 M6 E30.3.08.02
CM6 x 16 6 115 S 16 M6 £30.3.08.03
CM8x 12 10 16 55 12 Me E40.3.08.01
CMEx 16 12 16 5.5 16 Ma £40.3.08.02
CM8 x 20 14 16 55 20 M8 E40.3.08.03
adjustable screw
Description D Mass (g) Part no
15BIM14-M8 M8 9 E40.3.09.01
30BJM14-M8 M8 18 E40.3.09.02
158JM14-M10 M10 6 E40.3.09.03
30BJM14-M10 M10 12 E40.3.09.04



https://purelogic.ru/

hinges

ALHY3030
12 5
* ¢ -
T
,.._'I.&&__ f'_,‘____lu
D) (= l’_@?)
19 —
© Mo
ALHY4540
(373 1
| po=
- @ }
B
505
4- B85
1;':.-".] p—et fffﬁ
=L —
© H ©
ALHYS5050

(
A o

ALHY4030

212 85

18 .

455

) k1)
l
,jll

By

4-965

’5:1;\}

(

(O)

ALHY4545

&
ﬂi] | |
[=11]
40,5
=1 4-@DES
® H @
34|
© MO
—a
ALHY4040
812  es
4 @) .
=
418
4=065
s o
©) H @
3 -
©) = (0
ALHYS5045
Description Mass (g) Part no
ALHY3030 as E30.4.01.01
ALHY4030 54 E40.4.01.01
ALHY4040 54 E40.4.01.02
ALHY4540 61 E45.4.01.01
ALHYA4545 67 E45.4.01.02
ALHY5045 67 ES0.4.01.01
ALHY5050 67 ES0.4 01.02

S /e

www.purelogic.ru


https://purelogic.ru/

aluminum handles

30 —d — % a4
T l]:': E:
= l g
4 E k
| _-— I'_:: ta—g E:.
Description Mass (g) Part no
ALBS3040 107 E30.4.02.01.01
ALBS3040H 11 E30.4.02.01.02
nylon handles
D
b
LN} 1 IL.]
= J Y
1 e o i
i N !
A 2-065
B .
:
v I'il
Description Mass(g) A B C D H Part no
BS87 24 105 87 24 65 36 E30.4.03.01
BS117 59 136 117 24 92 40 E40.4.03.01
8S164 94 185 164 26 141 50 E45.4.03.01


https://purelogic.ru/

handles with lock

Description Mass (g) Part no
2SS 253 E40.4.04.01

magnetic handles

L

Description Mass (g) Part no
QCZ-A 32 E40.4.05.01
Qcz-B 33 £40.4.05.02


https://purelogic.ru/

universal adjustable nylon legs

Description  Mass (g) D Payload (kg) Partno
M8 x 60-50R 68 25 60 50 M8 =200 E30.4.06.01
m MB x 60-60R 92 25 60 60 M8 =200 E30.4.06.02
E- M8 x 100-50R 83 25 100 50 M8 =200 E30.4.06.03
] M8 x 100-E0R 107 25 100 60 M8 =200 E30.4.06.04
" b - M8 x 100-80R 174 30 100 80 M8 =200 E30.4.06.05
C M10x 100-50R 105 25 100 50 M10 =240 E40.4.06.01

M10 x 100-60R 129 25 100 60 M10 =240 E40.4.06.02
M10x 100-80R 196 30 100 80 M10 *240 E48.4.06.03
M12 x 100-50R 132 25 100 50 M12 =300 E40.4.06.04
M12 x 100-60R 156 25 100 60 M12 =300 E40.4.06.05
M12x 100-80R 223 30 100 80 M12 =300 E40.4.06.06
M14 x 100-60R 188 25 100 60 M4 =300 E40.4.06.07
M14x100-80R 255 30 100 80 M14 =300 E40.4.06.08
M16 x 100-60R 225 25 100 60 M16 =300 E40.4.06.09
M16 x 100-80R 292 30 100 80 M16 =300 E40.4.06.10

Description Mass (g) D Part no Payload (kg)
M12 x 100-80RK 192 M12 E40.4.06.11 =300
M14 x 100-80RK 224 M14 E40.4.06.12 =300
M16 x 100-80RK 261 M16 E40.4.06.13 =300



https://purelogic.ru/

adjustable steel legs

. "" It 1]

Description Mass(g) A C D Payload (kg) Partno

= DJG40-M10x 100 177 23 93 40 M10 =600 E40.4.06.14
OJG4A0-M12x 100 204 23 3 40 M12 =600 £40.4.06.15
OJGE0-M12x 100 308 23 93 66 M12 =800 E40.4.06.18
DJGEO-M14 x 100 340 23 93 60 M4 =800 E40406.17
DJGEO-M16 x 100 377 23 a3 60 M16 =800 E40.4.06.18
DJGBO-M12x 100 653 it | 83 78 M12 = 1000 E40.4.06.19
DJGEO-M14 x 100 685 28 93 78 M14 =1000 E40.4.06.20
OJGBO-M16x 100 722 28 93 78 Mi1é =1000 £40.4.06.21

5-09 M12M 16 5-@8 R 2
5-D6A ; MIZANE )2 1 i : '
[ Te 5 5

3 1 oD -
| | ) 1 ! | i 1D L]
= e = 8 | 4 8 [ 1 & -

o @ ] ? L
Lk - N y

_ﬂl-q—- ¥ il ] b:‘-_ @ @ hl-.-—n-:';'- ||_: &, :
- L :
—m | —"'[ 1 I :
L 110 o | = 120 e B =
o — - - S— 130
3030DB-M12/M 16 4040DB-M12{M16 4545DB-M12M 16
Description Mass (g) Part no
3030DB-M12 1051 E30.4.07.01
3030DB-M16 1050 E30.4.07.02
4040DB-M12 1196 E40.4.07.01
4040DB-M16 1194 E40.4.07.02
4545DB-M12 1410 E45.4.07.01
45450B-M16 1408 E45.4.07.02



https://purelogic.ru/

adapters for adjustable legs

- 40 12
A-R2 M
~ 1 4
e N =~ Nl
O) O) | L.
— ,:_—i-?ﬂ: — = =
, g -(F)-
= = | ™
—&)) (D %
-4 J l Q) Wit
iy I \T_
I | A / :
A-BE6 /
2020EGJ-M86 2040EGJ-M8
8.5
an____4-R25 o 4-R25. 80 85
3-R i
e L & Ty
I q4 | /X PN :
b= ‘::_IFL 285 o / \I«’ \.ll = .++.—-¥4—H’-;s.+ o
e | IETH i \
\2-o0 (K1)
T T ‘Tr o
E ] . .Il Jll I [ 4 oTB. 4 mecTa B
3030EGJ-M8 3030RGJ-M8 3060EGJ-M12 6060EGJ-M12
Description Mass (g) Part no
2020EGJ-M6 E20.4.07.81
I I I I 2040EGJ-M8 _ 20 _ E20.4.07.02
4040ESGJ-MB 42 E20.4.07.03
3030EGJ-M8 13 E30.4.07.83
— o 3030RGJ-M8 10 E30.4.07.04
3060EGJ-M12 48 E30.4.07.85
6060EGJ-M12 98 E30.4.07.06



https://purelogic.ru/

adapters for adjustable legs

™ % * _4-852
—— I- S1E r." 12
- . - | i |
g s s n g LA
4 I Il A --
AR g{ Q—*D 8 4 { f.ll ]
15 é] l’é‘ L .
: 5) & =N
3030BRGJ-M12  3030BGJ-MEMI10 3060BGJ-M10/M12/M14 6060BGJ-M10/M12/M14
- d-e1)
/ [0 L p—-
_’ r 2, "j_ldﬁql | zen %
- =] i 1 g, ¢ .
J;4 : L5 e boss
v ) L g “ o - =]
o+ e 3 -
o ’ 3 s
| - 4l i J
60120BGJ-N12/M 14/M16 §06030BGJ-M12/M14/M16
Description Mass (g) D Part no
3030BRGJ-M12 9 E30.4.07.07
3030BGJ-M8 20 M8  E30.4.07.08
3030BGJ-M10 20 M10 E30.4.07.09
3060BGJ-M10 48 M10  E30.4.07.10
3060BGJ-M12 £ M2 E30.4.07.11
3060BGJ-M14 48 M4 E30407.12
6060BGJ-M12 105 M12 E30.4.07.13
6060BGJ-M14 105  Mi4  E30407.14
6060BGJ-M16 105 M16 E30.4.07.15
601208GJ-M12 211 M12 E30.4.07.16
60120BGJ-M14 21 M14 E30.4.07.17
60120BGJ-M16 211 M16  E30.407.18
606030BGJ-M12 70 M2 E30.407.19
606030BG.J-M14 70 M4  E304.07.20
606030BG.J-M 16 70 M16 E30.4.07.21


https://purelogic.ru/

adapters for adjustable legs

a0 3-R1 R 0 B
ems | i, | T &RiS) B2 | 5
— — a0 e e L/ |
: Ill - | pa - T Ky | .' 'r
&l —7 z‘l— \ & |/ .1
q 4 % * ’ ‘“ f L & |
I T | —f = }=
1 | ik £ |
i |
0 _ ba ; )
4040EG.J-M8 4040RGJ-MB 4060EGJ-M8
80 | 4 ®9FL
2-DHRTL
Beds » _aA4s | M6 / -
E o\ &
=) » - 1]
J 1 f O\ ®|
b*._A‘ =
I g 9 {
L] = _=— =
A0BOEGJ-M12 —H)) @ B
8080EGJ-M12
Description Mass (g) Part no
4D40EGI-M8 42 E40.4.07.03
4040RGJ-M8 18 E40.4.07.04
4060EG.J-M8 36 E40.4.07.05
4080EGJ-M12 93 E40.4.07.06
BO8OEGI-M12 186 E40.4.07,07

www.purelogic.ru

S /e


https://purelogic.ru/

adapters for adjustable legs

4040BGJ-M10

4060BGJ-M12M14M16

{20 12915 .
4-@18 .
e ) Hi - T ah |\
= G .
e, - -
1 | L
q 9 o~—ls [ o4
0 L m l
=

4040BGJ-M10
4060BGJ-M12
4060BGJ-M14
4060BGJ-M16
4080BGJ-M12
4080BGJ-M14
4080BGJ-M16
8080BGJ-M12
8080BGJ-M14
8080BG.J-M16
80120BGJ-M16

808040BGJ-M12

808040BGI/-M16

80160BGJ-M16

808040BGI-M14

39

65

65
65

' of

91
91

194

194

194

357

486

130

130

130

80160BGJ-M16

M10

M12
M14
M16

Mi12

M4

M16
M12_
M14

Mi1E

M16
M16
M12
M14
M16

Description Mass (g) D Part no

E40.4.07.08
E40.4.07.09
E40.4.07.10
E40.4.07.11
E40.4.07.12
E40.4.07.13
E40.4.07.14
E40.4.07.15
E40.4.07.16
E40.4.07.17
E40.4.07.18
E40.4.07.19
E40.4.07 20
£40.4.07 21
E40.4.07.22

808040BGJ-M12/M14/M16

www.purelogic.ru


https://purelogic.ru/

adapters for adjustable legs

228
£ 3 —
b

S
o

4545EGJ-M12

lanl

5050EGJ-M12

Description
4545EGJ-M12
4580EG.J-M12
4590EGJ-M14
4590EGJ-M16
S090EGJ-M12
S0S0EGJ-M14
S090EGJ-M16
5050EGJ-M12

S50100EGJ-M12
50100EGJ-M14
50100BGJ-M16

S /e

@ Z—Eimi
4-H35 45 o]
e
4590EGI-M12/M14/M 16
00 2- @ 1ERA.
FE-N 50 o /
| { &
SO100EGJ-M12/M14/M16

Mass (g) D Part no
29 M12 E45.4.07.03
104 M12 E454.07.04
104 M14 E45.4.07.05
104 M16 E45.4.07.06
213 Mi2 E45.4.07.07
213 M14 E45.4.07.08
213 M16 E45.4.07.09
37 M12 ES0.4.07.01
133 M12 ES0.4.07.02
139 M14 £50.4.07.03
138 M16 ES0.4.07.04

9090EGJ-M12M14/M16

www.purelogic.ru


https://purelogic.ru/

adapters for adjustable legs

45458GJ-M10

&) 3
4 { (D-.-_""'H-..
L H&) (®

S850BGJ-M10

6060BDGJ-M12

S /e

[ el

4590BGJ-M12M14M 16

4

) (@

2080BGJ-M12/M14/M 16

4- D6 S

RES 100 .
a-R2s k'd 0 .- T 7
Y 3
A= S
me5, 100 /
s-R2s w i LJ
i Oo—L

L&) (@) ) (@ if

50100BGJ-M12/M14/M16

Description Mass (g) D
4545BGJ-M18 | 55 M10
4590BGJ-M12 120 M12
4590BGJ-M14 | 128 M1a
45%0BGJ-M16 120 M16
9090BGJ-M12 | 251 M12
9090BGJ-M14 251 M1a
9090BGJ-M16 | 251 M16
5050BGJ-M10 69  M10
50100BGJ-N12 | 143 M12|
50100BGJ-M14 149 M14
50100BGJ-M16 143 M16
100100BGJ-M12 311 M12
100100BGJ-M14 | 311 M14 |
1001008GJ-M16 311 M16
6060BDGJ-M12 103 M12

Part no
E45.4.07.10
E45.4.07.11
E45.4.07.12
E45.4.07.13
E45.4.07.14
E45.4.07.15
E45.4.07.16
E50.4.07.05
E50.4.07.06
E50.4.07.07
ES0.4.07.08
ES0.4.07.09
ES0.4.07.10
E50.4.07.11
E60.4.07.01

100100RGI-M12(M14/M 16

www.purelogic.ru


https://purelogic.ru/

corner plates

180
=
==
=

AL-60BJ

180

/

B ]

AL-808BJ

Description

AL-30BJ
AL-40BJ
AL-45BJ
AL-50BJ
AL-60BJ
AL-80BJ
AL-90BJ
AL-100BJ

Mass (g)

171
237
265
306
363
504
573
642

2-99

Part no
E30.4.08.01
E40.4.08.01
E45.4.08.01
E50.4.08.01
E30.4.08.02
E40.4.08.02
E45.4.08.02
E50.4.08.02

1

AL-1008J

www.purelogic.ru


https://purelogic.ru/

aluminum base

=T 1
IR "
1 *'5- ¥
¥ .t
HE: B LN T 3]  —
i — i o | "{‘ S |
“ﬁh_m L- =i® _ij- __.,J | 7o |
L 41 1 B
B . _]J L= -; || ': 0.
i T r 1!_[}:'1:.‘% o ( ad:'_';f
: | Ve ‘ o
ALl |7H |
E4040GD E4080GD
Description Mass (g) Part no
E4040GD 194 E48.4.09.01
E40B0GD 388 E40.4.09.02

roller bearing legs

-|
w

150

F%_ J%H o o P e

— + .gil
\, i A | i ‘ —
Mzl s | 3 2] @ |
150
JZ3040W
Description Mass (g) Part no
JZ2e30W 1550 E3C.4.10.01
JZ3040W 2700 E40.4.10.01



https://purelogic.ru/

adapter plate

By s
34| ,
s .J'J 515
g 4
10
L_&
130

ZBR30 ZB40 ZBR40

Description Mass (g) Part no
ZB30 09 E30.4.11.01
ZBR30 978 E30.4.11.02
ZB40 120 E40.4.11.01
ZBR40 262 E40.4.1102

Description Mass (g) Part no
GG8E 26 E40.4.12.01

www.purelogic.ru


https://purelogic.ru/

adapter plate

Descriptian Mass (g) Part no
GZ8E 11 E30.4.1301
GZ10E 11 E40.4.13.01

Description Mass (g) Part no
ucs 40 E40.4.14.01
uc10 56 E40.4.14.02


https://purelogic.ru/

dedicated rail

Description Mass (9) Part no
YT-A 40 E40.4.15.01
YT-B 30 E40.4.15.02

aluminum panels

Purpose: an aluminum plate mounted on the profile for protection
Material: aluminum layer + resin

Silver, blue, green

Thickness: 3 mm /4 mm

Purpose: acrylic mounted on the inner profile structure for protection
Material: acrylic

Color: transparent / translucent white / blue / brown

Thickness: 2 mm - 10 mm

Purpose: wire installed in the profile groove for mechanical protection,
Material: Carbon steel plating

Color: bright white

Thickness: 4 mm - 8 mm

Board Size: 1000 mm x 2000 mm



https://purelogic.ru/

dedicated rail

@152 4-08

Description Mass (g) Part no
EZM-1 385 E30.4.20.01
EZM-2 530 E40.4.20.01



https://purelogic.ru/

universal screw rollers without brakes

Description Mass (g) A
SJL-50 246 78 25 M10 50
SJL-63 524 95 28 M12 63
SJL-76 619 110 25 M12 76
SJL-100 784 85 25 M12 102

E30.4.19.03
E40.4.19.03
E45.4.19.03
E50.4.19.03

Payload (kg)
40
80
80
120

universal screw rollers with brake

Description Mass (g) A
SULS-50 282 78 25 M10 50
SULS-e3 647 95 25 M12 63
SJLS-75 769 110 25 M12 76
SJL5-100 894 E5 25 Mi2 102

S /e

E30.4.19.04
E40.4.19.04
E45.4.19.04
E50.4.19.04

Payload (kg)
40
60
80
120

www.purelogic.ru


https://purelogic.ru/

rollers with plate without brake

Descr. Mass (g) A Part no Payload (kg)

BJL-50 277 74 71 54 54 36 50 7 E30.4.19.01 40
BJL-63 627 95 96 67 74 44 B3 | BS5 E40.4.19.01 60
BJL-75 724 107 96 67 74 44 76 85 E45.4.19.01 80
BJL-100 843 133 96 67 74 4 102 85 E50.4.19.81 120

rollers with plate and brake

Descr. Mass(g) A B Part no Payload (kg)
BJLS-50 314 74 71 54 54 36 50 7 E30.4.19.02 40
BJLS-63 744 95 96 67 74 44 63 85 E404.19.02 60
BJLS-75 842 107 96 67 74 44 76 85 E45.4.19.02 80
BJLS-100 976 133 96 67 74 44 102 85 E50.4.19.02 120


https://purelogic.ru/

cover profile T-slot

12
0.2 i E— =
il p
+0.5
a4 +o[',5 04 @

EC8
Descr. Mass (g/m)
EC8 20
EC10 25

== IE
ﬂ J g \ /]

\ .I_-'I
EC10

Part no
E40.5.01.01
E48.5.01.02

85

RCé
Mass (g/m)
RC6 20
RC8 410
RC10 50

12
10
10.4
— —
T I - B
| 2
_ N~
RC8 RC10
Part no
E20.5.02.01
E490.5.02.01
E40.5.02.02

S /e

www.purelogic.ru


https://purelogic.ru/

euro standard cover profile

pic.1
Descr.
2020EG
2040EG
3030EG
3030RG
3060EG
B060EG
3030BG
3030BRG
3060BG
3080BG
30120BG
6060BG
60120BG
606030BG
4040EG
4040RG
4060EG
4080EG
8080EG
4040BG
4040BRG
4060BG
4080BG
40120BG
4M160BG
8080BG
80120BG
80160BG
BOBO40BG

pic.2

Mass (g) A
1.07 20
2.05 40
3.33 30
3.03 38
6.43 &0
1259 &6
3 30
25 30
ONT 80
BI5 7 a0
1144 120
11.31 60
224 120
7.65 60
554 40
4.98 40
8.14 60
10.7¢ 80
21.3 80
4.7 40
4.18 40
288 60
9.77 80
1456 120
1936 160
19.15 80
2854 120
37.93 160
13.13

E8TBEE585888385868282888888858388 3¢

C
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4
4

Part no
E20.5.03.01
£20.5.03.02
E30.5.03.01
£30.5.03.02
£30.5.03.03
E30.56.03.04
£30.5.03.05
E30.5.03.06
E30.5.03.07
E30.5.03.08
E30.5.03.09
£30.5.03.10
E£30.5.03.11
E30.5.03.12
E40.5.03.01
E40.5.03.02
E40.5.03.03
£40.5.03.04
E40.5.03.05
£40.5.03.06
€40.5.03.07
E40.5.03.08
£40.5.03.09
£405.03.10
€40.5.03.11
£40.5.03.12
E40.5.03.13
£40.5.03.14
£40.5.03.15

A I T s prech - A - -
I 1 I |
) . ) . d )
i ) |

pic.3

Pic.
pic.1
pic.3
pic.1
pic.2
pic.3
pic.5
pic.1
pic.2
pic.3
pic.3
pic.3
pic.5
pic.3
pic.4
pic.1
pic.2
pic.1
pic.3
pic.5
pic.1
pic.2
pic.1
pic.3
pic.3
pic.3
pic.5
pic.3
pic.3
pic.4

.

pic.5

NN

S /e

www.purelogic.ru


https://purelogic.ru/

euro standard cover profile

Hiv Hlds” Biv

pic.1 pic.2 pic.3

C Part no Pic.

Descr. Mass (g)

4545EG 727 45 45 4 £45503.01 pic.1
4500EG 1406 90 45 4  E45503.02 pic.2
4545BG 618 45 45 4  E4550303 pic.1
4590BG 12 90 45 4 E4550304 pic.2
9090BG 2359 90 90 4 4550305 pic.3
5050EG 874 50 50 4  E5050301 pic.1
50100EG 1588 100 50 4  E5050302 pic.2
5050BG 747 50 50 4 E5050303 pic.1
50108BG 145 100 50 4  E505.03.04 pic2
100100BG 2853 100 180 4  E50.5.03.05 pic.3
6060BDG 997 60 60 4 E6050301 pic.1

auxiliary cover profile

F i o
- A = LT B Lo
|
]
o o
: |

pic.4 pic.5

Descr. Mass(g) A B C Part no Pic.
1530-6G 1.77 30 5] 4 F15.503.01 pic4
15120G 6.59 ST2URSS 4 F15.503.02 pic.5
2040-8G 2.63 40 20 4 F20.5.03.81 pic.4
2080-8G 633 80 20 4 F205.03.02 pic5
20120G 8.98 120 20 4 F20.5.03.03 pic.5


https://purelogic.ru/

= OUrelogic

esearch & developmen

8 (800) 555-63-74 6ecnnaTHble 3BOHKM 1o PP
+7 (473) 204-51-56 BopoHex
+7 (495) 505-63-74 MockBa

| www.purelogic.ru
1 Fi info@purelogic.ru
394033, Poccusg, r. BopoHex,
Jlennnckmn np-T1, 160, odpuc 149

800-1700 800-1400 BbIXOLHOM



https://purelogic.ru



